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QUESTION BOOKLET
This question paper contains 170 questions. / 38 Y97 95 § 170 ¥ &1
All questions are compulsory. / At U¥T 3iFaM €1
One question carries half mark only. / T 7%= & T ShereT SATEM 376 |

Maximum Marks : 85 3Ty 37 : 85
Time : 2 Hours O ;2 "
1.  Geographic segmentation of marketing includes

(A) Service (B) Village (C) Occupation (D) Brand

forqur & Wiiferes favmerm & wiftrfora 2

(A) FET (B) Tia (C) =Ia|™ (D) i
2.  Personal factor of consumer behaviour is/are

(A) Lifestyle (B) Value (C) Code (D) All of these

SIIER o1 /o ST R &/
(A) St (B) g (C) Efgar (D) ¥z @

3.  Public goods is/are
(A) Street 11ght (B) Social system (C) Knowledge (D) All of these

(A) @TSG [GIEA (B) @ISR SUTTeA!
(C) I+ (D) ug &l
4.  Retailer deals to the
(A) Producer (B) Copyright
(C) Royalty (D) Ultimate Consumer
ToR ¥9y T@d &

(A) IUEHT  (B) HUNEEH (C) TIed & (D) 3ifem IqerRT &
5.  Retailing performs the functions of
(A) Transport (B) Risk bearmg (C) Assembling (D) All of these
LT (R ) SATIR I T 1Y Al & ?
(A) @ (B) <ifigw s@=
(C) wuEm (D) g @t
6.  Marketing is a concept of
(A) Knowledge (B) Standard (C) Business (D) All of these
U (ATehfen) STaumuT | ¢
(A) M hHI (B) W hi (C) =@a™hl (D) 3 aul i

7.  Packaging is different from
(A) Promotion (B) Design (C) Packing (D) All of these

YenforT foro® i 27
(A) THITH (SerE) (B) fesire (stfirehe)
(C) fehm (D) &t
3 Code No. : C-395/2018/Series-A




10.

11.

12.

13.

14.

15.

Which is a traditional means of advertising ?

A) Radio Web-advertising
C) e-marketing None of these
%1 TR HIEH i 918 ? .
(A) e (B) dsw-fommw  (C) 3-fawom (D) 78 O i &l
Web-advertising is useful for
g;) TVusers  (B) Cinema users(C) Internet users(D) All of these
~forgmam 3wt B
(A) & I = e (B) Towm g < fotw
(C) T Iord o ot (D) o+t
Packaging is a function of .
A) Financial Management Economics
EC ‘Marketing 3 All of these
?
(A) foriia gsem (B) 3refezeen
(C) forur (aehfm) (D) T &
Premium is a scheme of
Advertisement
Production

A) Sales promotion
C) Pricing
ThHH & -

(A) T THRH S (B) fommam Ht

(C) Ha-Fefwrdr (D) Icare it

Which is physical distribution function of marketing ?

gA; Storage and Transportation
C) Copying

T IR forawor il 3 2

o1
(A) RIS a1 ZEHIETH
(C) I
Maturity stage is a stage of
(A) PLC
gfterrar STeer JTEATR?
(A) PLC (B) 3G
Green Marketing is suitable for
A) Car
EC Eco friendly péoduct
(A) SR forw
(C) ThI-Thraeil 3c1E o foIg

¢

Advertising by Radio is suitable for

A) Educated customer
C) Rural customer

e g fogmaa 31

kg
(A) HTET ITHTRIT o foTU
(C) TTHYoT Ieverdt o foTg

Code No. : C-395/2018/Series-A

(B) Production

Production
All of these

I
g

Selling (D) Promotion

IEET (D) YHIRH

Bus
None of these

¥4 & fou
T O HIE Tl

Non-educated customer
All of these

e SusierT & Tt
= gt



16.

17.

18.

19.

20.

21.

22,

23.

Product concept is based on
(A) Events

u#]{?g Experiences (C)
3ITTE TTYRIM AT 2
(A) FSIHAI W (B) IS W (C)

The source of product generation is/are

(A) Thinkers (B)
(C) Manager ] (D)
Scre FHm H B/

(A) Toar® (B) 3FEEF TR (C)

Sales less variable cost equals to

(A) Profit (B) Loss ©)
oeTd Ffeld ST SIs & :
(A) <™ (B) =M (©)
Price determination starts from
A) Wants B
C) Collecting data D
(A) T (STEREHaT) 8 (B)
(C) TS THZI HH I (D)
Organisation Model is a theory of
A? Supply Model ng
E. Consumer Behayiour D
ETT3 Higel T g e -
(A) Yf Hieet &1 (B)
(C) YT FAGR (D)
Which is/are features of Packaging ?
EA; Image EB
C) Economy . ‘ D
ﬁqm/ﬁa&wﬁﬁnw/ﬁ:%@ ?
(A) ERET (B) faspawmada (C)
Management by objectives is related to
A arketing planning B
EC; Approach D
ECACIRANRELEREI B AR
(A) ToquE 3meH 3 (B)
(C) JurmH (D)

Marketing planning is suitable for

A; Production éB%

iC Huge loss D
IR 3 The & -

(A) 3T % forw (B)

(C) Wt &I = ferg (D)

Organisation (D) All of these

AW (D) o

Research results
All of these

FEPED (D) Jgad

Contribution (D) None of these

CNHE] (D) $TH ¥ IE &l

Marketing
Education

IEEUEES]
forem

Pricing
Promotion

shrd - freior st
THISE Rl

Sales promotion
All of these

Fdeen (D) g ot

Design
None of these

AlYHeTT
$TH 9 H15 Tl

Highrisk
Better co-ordination

I Eg & fae

3= G- o foTu
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24.

25.

26.

27.

28.

29.

30.

31.

32.

Socio-economic activity is related to _
(A) Dividend (B) Finance (C) Marketing (D) Interest
TTHTISTeh - 37T ToRam Heifea & -

¥
(A) awE (B) faaw (C) foaom & (D) T3

Which is the method of pricing ? o
A) Focussing B) Productivity
C) Stream lined D) Market Penetration

I - Tyt i fafa g 2
(A) g (B) 3dcHhal  (C) 9NRRgd (D) ST9IR Yol
Wthh is the nature of Marketing conc%)t ?

Customer Oriented Product Planning
Systematic D) All of these

ST h1 TRl & 2
(A) mﬂw%&a(B) 3are e (C) woTrefiTTa (D) I8 |t

The subject-matter of Marketing includes .
A) Events (B) Service (C) Experience (D) All of these

6 forvar-awg o wfrfera 2

(A) A (B) @ (C) g (D) T&&f
The base of market segmentatlon 1s .
(A) Age (B) (C) Education (D) All of these
TR fo@ea (favrem) =1 31T‘€|'|'{ 2
(A) 3 (B) ferm (C) farem (D) @ |l
Buyer behaviour includes '
EA; Buying occasion gB% Attitude

C) Loyalty D) All of these
Shal SEER 1 Fffiferd 3

(A) T TET (B) gl (C) Tmr (D) ¥g @i
Preference test is a tool of

EA; Advertisement ng Promotion

C) Brand test D) Motivation
T wieor fohe T g (|TeH) B 7

(A) TasmoE (B) THIH (C) siewlir (D) IO

Who are the buying agents for their consumers ?

A Market agency B) Customer
Retailer D) Wholesaler
ﬁq I U3 o ToTT shell Toie 8 2

(A) Uhe TSEH  (B) UTEH (C) fer (D) b Tershar

Target marketing is suitable for

EA; Segments activities EB; Group

C Serv1ce D) Planning
(A) %ﬂﬁi%ge,ﬁésm (B) &Hg  forg
(C) Ta1 s feru (D) 3TASH & T

Code No. : C-395/2018/Series-A 6



33.

34.

3S.

36.

37.

38.

39.

Which is/are factors for the growth of new concept of marketing ?

(A) TQM (B) New Technology
(C) New features of life (D) All of these
foour <t 78 STaUTon i gfg o foTT e A a1/H 8/ 2

(A) TQM (B) 3 dehrile

(C) SfeH & 73 Tequr (D) ug &l
Research activities in the marketing involves

(A) Simplifying Product Line (B) Location

(C) Operation (D) Co-ordination
forqur <At srgweT fohamati § wfier 8 -

(A) 3cTE TET T TLATHT (B) feufy

(C) U= (D) HH= (HghN)
Which factor affects the Marketing Mix ?

(A) Market Research (B) Competition

(C) Sales Promotion Policy D) All of these
feraur first <l 19 |1 sk TTferd WT% ?

(A) SNIR STFIH (B) Wfaeagt

(C) ¥ew ymieE i (D) ug &l

Which is not the part of Marketing ?

(A) Promoter (B) Retail Sales Manager
(C) Sales Supervisor (D) Salesman

I =1 foqur w1 few T8 8 2

(A) Jadsh (B) Teet Tew S
(C) Hod g (D) HequA

Which is/are base of Market Segmentation ?

(A) Income (B) Race (C) Brand loyalty (D) All of these
TSR AT 1 YR A1 8/3 2

(A) I (B) ffa

(C) witg <t w1 (D) ug &t

Rural Marketing is suitable for
(A) Laptop (B) Smart Phone (C) Dairy Industry (D) None of these

Trretor ferque g
(A) U ﬂ (B) WIEHM 3 for
(C) i 3am = fau (D) T8 & HIg T
Which is modern Marketing Concept ?

A) Web Marketing B) Digital Marketing
EC; E-Advertising ) gDé AlFof these
SI4 3y foque (ATeh{e) @YU 7 2

(A) seHmRGT  (B) fefeamspien (C) 3-fasmm= (D) =g

7 Code No. : C-395/2018/Series-A



40.

41.

42.

43.

44.

45.

46.

47.

Product development is related to

(A) Changes in the value (B) Product innovation

(C) Risk (D) Cost

(A) Yoo § uftga & (B) 3cTE THTHT ¥

(C) Shfignd (D) &N &

Market penetration occurs when a company enters a market with

(A) Old product (B) New product

(C) Out of use product (D) All of these
Wmaﬁﬁ%%wwm o |1 TSR | Y91 L 7 |

(A) WH3EAE  (B) R3IGE  (C)

Which is not a middlemen ?

(A) Auditor (B)
(C) Broker (D)
I T Teiferan T8l & ?

(A) et (B)
(C) et (D)
Which is/are product ?

(A) Paper (B) Skill ©)
/s 2/ 9

(A) HF (B) I (C)
Which is/are steps of selling process ?
(A) Prospecting (B)
(C) Arousing interest (D)
IEEARIERIE X IEICRIAE

(A) & (B) T-3wH  (C)

Raymond is a

(A) Brand (B) Product ©)
g 7 T
(A) s (B) 3c1g ©)

YA 3c1E (D) a8 |t

Auctioneer
Del-Credere-Agent

~

TR
SA-shel (ATETHT) Tie

Events (D) All of these
TS (D) I8 |t

Pre-approach
All of these

3wd (D) o
Goodwill (D) Share
I I (D) 39 (IN)

Which is related to function of Salesmanship ?

A) To induce people to buy goods (B
C; Profit P p . vE ED%
éﬂ%ﬁ‘—rﬁm CREaD R RGO i

(A) AMIHAEACH S AIRTHA  (B)

(C) @™ (D)

Marketing mix includes

A) Sales (B) Price ©)
ﬁaﬁaﬁ%ﬂ%:

NBREED (B) hma (©)

Code No. : C-395/2018/Series-A 8
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48.

49.

50.

51.

S52.

53.

54.

5S.

Micro Environment includes

A) Customers (B) Market C) Competitors (D) All of these
%\ %_ < g ) N (©) p (D)

(A) TES (B) S NIX (C) wicreqeff (D) ¥z &
Promotion encompasses

(A) Sales promotion (B) Advertising

(C) Personal selling (D) All of these
THISE & et B -

(A) TG yHRE  (B) fommm (C) =afFama fersht (D) =g weft
An 1dentified sponsor is related to

(A) Advertisement (B) Market

(C) Product (D) Promotion

Teh ST (ARG TdieR gefird 2 -

(A) fosm=a (B) seR¥ (C) 39CH (D) YHIIE &
Trade mark gives

(A) Productivity (B) Legal production

(C) Return (D) Management

v 3 |
(A) 3dEHdT  (B) dU3d@ed  (C) Yiawa (D) ¥&gA
Push is related to

(A) Brand (B) TQM

(C) SWOT Analysis D) Digital Marketin

O A y (D) Dig g

(A) sisd (B) TQM &

(C) SWOT favemur 9 (D) feforea foqum &

Affiliate Marketing does not include

A) Credit B
EC; Affiliate link ng
TG fomom 4 |feterd 781 2 -

(A) 9@ (39R) (B) Toshiux (C)

Which is a form of modern Marketing ?

TG hel

Sales letter
Trancing facility

(D) iR gferen

A) Article Marketing B) Lead scoring
EC; Digital Marketing ) ED% All of these
1< °T Teh 3T fooue (ATeRfeT) HEEIE?
(A) IATTEhet TR (B) 3T ThITQT
(C) TefSteet mrbfem (D) I8 |t

Which is a set of tangible attributes ?

(A) Product ( Price (C) Marketing
I T T &0 BT T & 2 ‘
(A) 341G (B) Hiad (C) HTheT

(D) Association

(D) TEITHTIH

Code No. : C-395/2018/Series-A



56.

57.

58.

59.

60.

61.

62.

Marketing mix does not include

(A) Price (B) Person (C) Product (D) Place
foaur fay o afffera 78 8

(A) hHd (B) =afea (C) 3G (D) &
Which is based on Customer ?

(A) Selling concept (B) Marketing concept

(C) Social concept (D) Product concept

T TTgeh W YT & ?

(A) Tersht staumon (B) feraum srgeamon

(C) TS ATERIT (D) 3G TGN

Brand is a/an

(A) Goodwill (B) Reputation (C) Image (D) All of these
SIUE 7, Th

(A) I (B) st (C) ufaea (D) I8 |t

Marketing concept involves

(A) FIFO method (B) Marketing Research

(C) Finance (D) Capital size

faoom srauron 4 aftfea 2 -

(A) dwifafs (B) smagEgH (C) fo= (D) Sit 3R
Who said that ‘Marketing is the delivery of standard of living’ ?

(A) Paul Mazur (B) Kotler (C) Armstrong (D) None of these

frm waT e T, fauom e TR H I 37 2 ’ ’
(A) TEET  (B) HEH (C) WM (D) ¥ & IS

Which concept of marketing is/are customer oriented ?

(A) Old concept of Marketing (B) Modern concept of Marketing
(C) Entity concept of Business (D) All of these

foraur <l S i STEYURN AT ohisd & 2

(A) TI9uE hi qUHT STFERen (B) Tauue hi g 3@yron
(C) ITET <hl T AL (D) ug &t

The price of a product must be relevant to the
(A) utility or satisfaction it delivers to buyers.
(B) amount of profit the sellers can obtain.
(C) availability of substitutes.

D) None of these

3cqTe hl hiad Gefid g =i -

(A) Tlied arett 6t ITATar 31eran aqfy &
(B) fershar grr s = ht W |
(C) SfcreTaAT <ht SucTeerdt &
(D) T & HIE TE

Code No. : C-395/2018/Series-A 10



63.

64.

65.

66.

67.

68.

69.

The first objective in Marketing is
A) brain storming
B discovering the needs of perspective consumers
%romotlon of product to make consumers aware of its existence
one of these

(A) 3:‘“3
(B) 31Ufera IuMIerIati bl AT bl T AT |
(C) Icurg <t Jufeufd o Ty T UTgehi ol 3TeTd U o ot JHIH T |

(D) T T 51 T

In Marketing, selling and buying would be called the
A) Primary function B) Secondary function
C) Exchange functlon D) Profit function

, 53 AT Torsha bl shaT ST
(A) rerfirss T B) s sd (C) ffmas (D) e
Standardization mean product uniformit Egr in terms of
EA; Quantity g g guaht
C) Both (A) and (B) D one of these
HThIhTT © a1 3 & gra-Y § 31 6l THET | .
(A) #E= (B) ToTer (©) (A)TNB)eH (D) FTH & Hig T&

Of the following, the item that is most likely to be a shopping good to most

eople is
A) toothpaste B) aTV set
iC_i health food E % None of these
H ¥ 9% TG M ©1 7, S JTeehTET Al <ht St wrf g ? ’
(A) TUUER (B) ddtTe (C) W@ (D) 38 9 His &l
How do you distinguish Marketing and Selling ?

EA; They are one and same. ﬁé Marketln is a part of selling.
C) Sellingisa part of Marketin None of these.

S AT qe PR (S 7 82 A

(A) aﬁwww (B) HTehieT BT 1 W 8

(C) WWWW%I (D) TH § IS &l

Se menting, tar%)etlng and positioning is a part of
Marketing B) Marketing Strategy
C Both (A and (B) D

, e Fremor qen v fraior v g

None of these

(A) m%%rrw%. (B) HThfeT TSt

(C) (A)TT (B) G (D) 8 & g 7
Convenience goods are those which are

A) consumed easily B) distributed easily

EC; purchased frequently gD% None of these

giaursHe (oY) arf ag g S

(A) SATET & TEUT < ST Toh | (B) I ferafa =i <11 &b |
(C) SRR G 51 T | (D) 398 8 H1S Tl

11 Code No. : C-395/2018/Series-A



70.

71.

72.

73.

74.

75.

76.

77.

Grading is an important process in the functions of

T&:ﬁﬁﬁstandardlzatlon ng Specialization
C) _Both (A) and (B) D) None of these
T T Hequl ufshan 87

(A) WO (B) Tafsrsiento
(C) (A)@(B)qHi (D) 37H € I8 &l

What is product line ?
EA; Group of different product ng More than one product

C) Different brand D) All of these
3dTq e ?
(A) Tafer= 3cag =1 998 (B) TH & 1M 3e0mg
(C) Taftr= srvg (D) ug &l

Which one of the following is not controllable variable of Marketing
Management ?
%rl:! om etltlon B) Consumer  (C) Environment (D) All of these

EERECARERIERECTEE F
(A) sr%wﬁ (B) UM (C) dTdTerRe (D) I8 |t

Warehousing is the sub-elements of o
A) Product (B) Promotion (C) Distribution (D) None of these

31{6|3n|{-1‘| |°h{-|°h| JY-dcd % ? .
(A) 3@ (B) WHRM (C) faawm (D) ¥ § 1S Tl

Business markets are part of the Company’s

A) Macro environment B) Micro environment
C Leggl environment D) None of these
[SSTg HTehe U1 e g |

(A) & IR (B) e U@l  (C) HIEAuRER (D) 8 A H1E T

A 1sltr(lllcture in which a few sellers control the major supply of the product is
calle
EA; Monopoly gB; Oligopoly

C) Monopolistic competition D Pure competition
Teh G et 5 fersha fereft Ieare <t vt 3mgfd %?Tﬁ?voh{d% HEATT &
(A) THIIHR (B) 3TCUTIHR
(C) UehIiehTiveh Tfcreast (D) g feremert

Seekers group contain

fresh workers B) middle level employees

C; government em loyees gD% All of these

NTRITY (37=9eh) T :
(A) TR-3t HHER (B) HEIH &R o U
(C) |THI HH=r (D) Ig Tt
Which of the followmg increases buyin (% power of a person ?
%‘t)’ Income a(ﬁ ) Wealth ) Credit (D) All of these

%3 W1k ohl IGIAT &

(A) em (B) Hufd (C) 39R (Wr@) (D) g @t

Code No. : C-395/2018/Series-A 12



78.

79.

80.

81.

82.

83.

84.

8S.

The Marketing Manager’s internal interactions include all of the following,
except

A) Sales B) Finance
C; Suppliers gDi Public relations
G} ATeh{eT B oh 3TTdNeh JTaishan | fferd &, e -
A) fasht (B) fm (C) 3Ycish (D) IS
Global Marketing is a result of
A) Domestic charge B) Privatization
C) Globalization ng All of these
éﬁgﬂ%ﬁ%rtrmqﬁmm%:

(A) W IMRH (B) Fefiwis (C) dSvdiwies (D) I8 @i

The process of ac U.lI'll’lg, interpreting, selecting and organizing sensory
information is calle

A) perception B) self-actualisation

C)_selective retention D) selective distortion

HOIIQGI') \¥1|-|°I')I{I§|TF[°I'>{-|I HI(‘IHIC\-I EREEI H‘Id-l ﬁm
(A) adEiEd (B) - awraiam(C) I 9o (D) aaﬁaﬁﬁ&r

The customer group who adopt the new product at the end are called as
(A) _strivers B) seekers cB’ aggards (D) None of these

%1 g T S T3 3G ohl S .
(A) HETd (B) foamg (C) grw (D) 8 & g 7
Which of these is related with Maslow’s basic need theory ?

A) Esteemed need B) Seller’s need
C) Distributor’s need D) None of these

H Y 1 HIEAT Shi ST TR [HGI< § Fa1ed 3 ?

(A) faf¥a smergresar (B) Tershar shi armagehan
(C) Toate &1 3Tewehd (D) ¥ ¥ IS &l
Generally, a niche is a small segment of the market that has some specific
A) satisfied need B) unsatisfied need
C) niche marketing D) local marketing
AT AR W, Teh = STSIR 61 Toh DIl WS 2 [&H Bidl 2 $o foiRrg
(A) 9qE ATERIhdl (B) 3HdE 3Ta™Ihdl
(C) “f= fauom (D) wifes faqum
When buyers have too narrow image of the brand, this error is called
g ; Under 1‘% sitioning ng Over posmomng

Doubt 1 positioning D) Confused p0s1t10n1ng

T8 GUGER o T | SIS i 9igd hH JHHRI Bidl &, 39

(A) aferfa (B) sfuferfs (C) wfey foufa (D) wftra feurfa
The concept of segmentation is important because it implies an understanding
that customers are

; the same gB; do not offer
C) homogeneous D) heterogeneous

TR TEqY] Bl &, Fifeh g TTEsh forem =h1 gTRget A & |
(A) FURENH (B) SN A H (C) THEIEH 1 (D) fawd g *
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86.

87.

88.

89.

90.

91.

92.

93.

Under which method roduct is launched 1n a particular area of market ?

A; Product test metho gB; Trend analysis

C) Test method D Market test method
Torfér o q&a aoR o TRy &= 1 ScuTe il A foR Sar 8 2
(A) 3care wlie fafy (B) vafd fargersmm

(C) udiequr fafer (D) SR wreqo forfeyr

Which of the following is not one of the stages of the product life cycle ?
%n:)’ Introduction (B) Revrve ©) eclme (D) Growth

T Y I G Teh 3cTE STaT—sh <hl STTAT Tal
(A) U= (B) astleA (C) aaqﬁr (D) Ifg
Service is
A; intangible ng perishable in nature

C) cannot be stored D) All of these
(A) 35 (B) feebrdt wrpfes 1
(©) wr%aqftaﬁmaao—cﬁn (D) Ig &4t

Sklmmmg price relate to

Charge initially high price B) Charge initially low price
gCi Chargmg coméetrt%vepprlce ng Nonegof these Y P
(A) IE H I HHd TTel BT | (B) & § fom Hma = & |
(C) gfcrRmft shidd TSt ST | (D) Eﬁﬁﬁéﬁ
Planmn is
decrdm in the resent B) what to do in the future
Both (A g) and ( D) None of these
(A) aﬁmﬁm%&rwél (B) e 3 &1 AT 2 |
(C) (A)T (B) qH (D) ¥ & g TE
AA laréned co-ordinated, unified series I(B)f aglLs is called as
ampaign actic
gCE Prorr?otr%nal survey §D; None of these
, Tehiehd TaIITaHI <Al SUft <l haT ST & -
(A) SR (B) TWHifd
(C) icHTE Haequr (D) T § g &
Tﬁanslatmg the product idea or marketin message into an effective ad is termed
motivation encoding
C; decoding ?3 customer %sychology
IcqTe o 31eraT faque Eest sl Uk gHTe fasime 5 qedieft shaardt 8
(A) ST (B) IS
(C) EEAIC (D) TS s TG

ood control system should take corrective action sooner for
(A% deviation = (B) standard (C) flexibility (D) None of these
EOPR Wﬂ% g

Th 3= R RINKEE . :
(A) Tomem (B) UM% (C) T (D) sqﬁﬁﬁéq@r
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94. Direct distribution system involves
(A) ownsales (B) ownsalesman (C) mail order (D) All of these
Bl CRUIECRE
(A) GeHfwhl (B) Wehaewmd (C) A AR (D) Ig o

95. Mango is commercially propagated by
(A) Inarehm'% (B) Veneer (C) Side grafting (D) Stone grafting

3ok g Fafa fohal ST & -

(A) Hehe (B) #hers (BTN

(C) red Trfae (D) WM TTf%eT
96. Which one of the following is used for preparing best jelly ?

(A) Jamun (B) Guava (C) Mango (D) Annona

e o 9 = A Sieft & famior o fote w3 g g

(A) ST (B) 3mWEG (C) m (D) 3T
97. Chillis are good source of

(A) Protein (B) Fat (C) Carbohydrates (D) Vitamin

I‘ClQ'II =51 Hld

(A) YEHH  (B) SEHH (C) =ETEEsed I (D) faerfim =
98. Gypsum is added to correct

(A) Salinesoil (B) Alkalisoil (C) Sodicsoil (D) Acidic soil

FI1 b T & foTg foreTmen ST 8 7

(A) fEgg  (B) &H@TgE (C) WReEE TS (D) I gQ

99. Guavaisarich source of
(A) Vitamin A (B) Vitamin C (C) Beta-Carotene(D) None of these

&H@Q&Ig{{ild : ‘
(A) frefm-v  (B) faefm-dft () dfiar-5ufer (D) 30 @ #i5 7=

100. T-budding is common method of propagatlon n

A) Citrus B) Peach ) Pomegranate (D) Apple
o 4 A- d?\SJIQ%HIHI«-ﬂﬁﬁI%?
(A) e (B) GdTe] (C) 3R (D) a9
101. Malathion is a
; Organophosphate gB; Organochlorine
C Car%bonate D) None of these
Teh

(A) HATHIBER (B) JNHEAKH (C) HEHeE (D) ¥4 | s T8l
102. Nitrogenous fertilizer with highest nitrogen content is

g ; rea EBg; Ammonium chloride

C) Anhydrous ammonia (D

None of these
STAH dlgglsld dceh dlcdl dlgglsiHdad dOI{Oh%
(A) Ifen (B) 3™ FAIES
(QEREEEREIER] (D) ¥4 | g a1
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103.

104.

105S.

106.

107.

108.

109.

110.

111.

Wthh is not a green house gas ?

f % & e =t gitaTe T i & 2

(A) CO, (B) CH, (C) CO (D) O,

Most serious disease of vegetable seedlings 1s

(A) root rot (B) damping off (C) wilt (D) None of these
e CABIRE 7 ’

(A) g@foem (B) Imuad (C) =aTH (D) 37 € I8 &l

In tomato red colour is due to

(A) anthocynin (B) lycopene

THTX o AT TT hl hRUT &

(A) THERHA  (B) E—

(C) xanthophylls (D) None of these
(C) JAMBFA (D) 30 U His T&l

Alternate bearing 1 1s a major problem i m

(A) Grape_ itrus

TehTdT YT feruehl g{eq g 8 7
(A) IR (B) g

Rose is commercially propagated b
B Seed 7
W gafeid feram ST 2

(A) T- buddm
TeTTs ST
(A) d-gpemd (B) 94
Good storage require

A
B

Low temperature and hig

None of these
mw o, SHrereeres 2 -
(A) 3= ATIHH 3?!151:1 AT
(B) o= amqum 31R 3= 3l
(C) 3= amHH 3R f= 31

Banana (D) Mango
(C) e (D) ™

(C) Grafting (D) Layering
(C) wfeema (D) &l d

High temperature and high humidity.
humidity.
High temperature and low humidity.

Good source of carbohydrates, vitamins, fats, minerals and protein are

(D) 3T 4 IS &

(A) Egg (B)  Milk
?mﬁm%za, fererfim, =, @ s e
(A) 3Jvsi (B) g4
Potato is rich source of

(A) fat (B) starch
TS 3T 914 & -

(A) aETH (B) W &I
Guava jelly is preserved b

A Péctl%]l P Y

gC; Sodium benzoate

JTHEE Sl 1 YREEIuT foRam ST 8
(A) ufee g

(C) Wifgay siSee gr

Code No. : C-395/2018/Series-A

) Vegetables (D None of these

T A=
(C) wssht (D) ST T IS el
(D) mineral

(D) WS &I

(C) vitamin
(C) Taerfm =

B) Sugar
D) None of these

(B) hU g
(D) 78 & H1S T



112. Storage temperature of Banana is
el ST TIEY ATIHH § -
(A) 2-3°C (B) 4-5°C (C) 10-13°C (D) 15-20°C
113. Ripening of fruits exit which type of gas ?
(A) Ethylene (B) Ammonia (C) Methane (D) All of these
el o Uehd UL ShIF HI T o Bl & 2

(A) sfoeiA (B) 3fmif (C) fam (D) @@af
114. Pruning involve
(A) Thinning (B) Heading back

(C) Both %A) and %B) (D) Bending
(A) Tt (B) Miuw  (C) (A)TAB)aH (D) FHd

115. Which of the fruit crop require tropical climate ?

(A) Pineapple (B) Citrus (C) Banana %D) Litchi

fehH thet <hl el whl IWTeh{eSEfa STefeTg shi JTTervashdl BIl & ?

(A) F=E (B) ig-swm (C) el (D) =it
116. Which of the following fruit crop has single seeded nut ?

(A) Litchi (B) _ Sapota (C) Mango (D) Coconut

T 1 O Tord el B § Tehed SIS 9 BT 8 2

(A) =it (B) =it (C) 3™ (D) s

117. Which of the following is non-climacteric fruit ?
%ﬁ:)’ Ma%ﬁ (B) Pineapple (C) Banana (D) Guava
H ¥ M g1 TR-JTrevi el & 2
(A) 3| (B) =™ (C) <hett (D) &g
118. The fruits and vegetables are known as

gA; nutritive food ng energy food
C) protective food D) None of these

AT GieTAT <hl Hal AT 2 - ‘ ‘
(A) TNUREEE (B) Sai@@m (C) "swfiw@m (D) 3 4 &g T8l
119. Green manure should be incorporated at its
gA; Seedling stage gB; Fully matured stage
C) Flowering stage - (D) Drying stage
WTE ol TEATUT ThaT ST ATTEY ITeh

(A) ST T R (B) GOl IR 3TEEAT T
(C) ToHUT HAIEIT I (D) ohd IIEAT T
120. Pest time for application of inorganic manure (fertilizers) in most of the fruit
fges %Sebruary-March B) May-June
é?]g August-September gD% November-December
TR Bl J& T 3TehTsI-eh @G (3T ) FANT hi- 1 I8 T7I 3 :

(A) ®EI-AE (B) W (C) Fra-fadsR (D) TasR-feEeR
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121. Which one of the following places has no Ashokan edicts ?

(A) Topra (B) Girnar (C) Kandhar (D) Pataliputra
ot 1 8 Tt et TR 3191 3 foreTovg e 2 2
(A) 2ma (B) fmar (C) YR (D) dreAgA
122. The Art style which combines Indian and Greek feature is called
(A) Nagar aw%%) Vesar ©) Slkhar (D) Gandhar
I TS Tt ShedT Jtett hgatrd
(A) :H“T{ (B) o (C) fame (D) YR

123. ‘Kumarasambhavam’ an epic is composed by

(A) Harisen (B) Kahdasa (C) Chandbardai (D) Banbhatta
Ueh HElehleY @HI{H“-IOI‘-I I(’l@llwgﬂ

(A) B@HgH  (B) HIfciq@gRl (C) wesREgRI (D) STUwg g
124. The Qutub Minar was completed by the famous ruler

(A) Alauddin Khalji (B) TIltutmish
(C) Firoz Shah Tughlaq (D) Qutubuddin Aibak
feper wfdreg wmersh g st HT b frmior qof sk /o ¢
(A) SAATHE Gt (B) Soqans
(C) TSt e Frereh (D) FILH UTH
125. Which philosophical system was founded by Vallabhacharya ?
(A) Suddhadvaita (B) Visistadvaita
©) Anekantavada (D) None of these

SeANTET G Shid H greifeh Jurreft forenfia i 78 oft 2 ’
(A) TETeqd (B) fafwrsriga  (C) 3mehladle (D) 37H @ i &l
126. Revenue system during Akbar’s reign was in the hands of

(A) Todarmal (B) Birbal ©) Balram Khan (D) Man Singh
3Teha o JTEHTA T TSI YoTTed! fehdreh g1l o oft

(A) A (B) e« (C) érrr @" (D) "M
127. The book ‘Poverty and the Un-British Rule in India’ is written by

(A) Dadabhai Naoroji (B) R.C.Dutt

(C) G.K. Gokhale (D) Amartya Sen

qiardt wog < IH-Terfes &1 €7 3fear geaes fopm foreht oft 2

(A) TEWEIRST (B) IRH. gd  (C) & mEad (D) 3™ 4
128. The ‘Academic Association’ was founded by

(A) Ishwar Chandra Vidyasagar (B) Ram Mohan Roy

(C) _ Jawahar Lal Nehru (D) Henry Vivian Derozio
‘ ’ * o HEIIH Y

(A) e faamamr (B) TW HIgT T

(C) SETER AT & (D) = faferm Sufssn
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129.

130.

131.

132.

133.

134.

135.

136.

How many members were initially there in the Constituent Assembly of India ?
YT hi FITE F9T H IR | e 4 ?

(A) 300 (B) 304 (C) 308 (D) 310
The English Crown is an example of
(A) Real executive (B) Nominal executive
(C) Quasi-real executive (D) None of these
it Tt TeheehT 3ETET & 7
(A) 9T BB (B) TTHHT HRIHR]
(C) red-arEafaeh RIS (D) 8 O His &l
The word ‘Secular’ was inserted in the Preamble of the Indian Constitution by
(A) 42" Amendment (B) 44" Amendment
(C) 52" Amendment (D) 25™ Amendment
&g ‘U YR |94 o Y@ H SIeT 737 o
(A) 424 H=NEE g (B) 44d H3med gr
(C) 5249 | g (D) 259 GSNeH gR

Which Article of the Indian Constitution 1s related to abolition of
untouchability ?

(A) Article 14 (B) Article17 (C) Article20 (D) Article 21
WA HITE 1 S A1 3T=0¢ STEIRId] 3~ 9 Hed 3 ?

(A) 343@@3 14 (B) 343@@3 17 (C) 343@@& 20 (D) 343@@& 21

What are ‘Core Industries’ in India ?

(A) Coal (B) Petroleum products

(C) Electricity . (D) All of these

W oh ST ITR HH A & 2

(A) HIEeT (B) ugifers 3eurg (C) ferstett (D) ¥z &

The currency of Thailand is

(A) Yen (B) Yuan (C) Rupiah (D) Bhat
=) Hal % :
(A) I (B) AW (C) = (D) W
An instrument of qualitative credit control in Indiais
EA; bank rate policy B) credit rationing '
C) open market operations D) change in reserve ratio
WRA H HTATcHe {1 T YR ¢ - ’
(A) o quHifa (B) @ febmr
(C) el 99k qiETet (D) e 31uTd | witEd
Which of the following is not a source of tax revenue in Indian States ?
A) Land Revenue B) Corporate Tax
C) Motor Vehicle Tax D) Entertainment Tax

T TSl § 7 § 9 s 91 st g0 TSIl U6 i k1 Jid 81 & ?
(A) Y-Ts/a  (B) fm= (C) AR-aEH (D) HARSH T
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137.

138.

139.

140.

141.

142.

143.

144.

The molten rock below the surface of earth is called

(A) Lava B) Magma (C) Batholith (D) Basalt
geafl shi Tag o 1 JIEH I had &

(A) &ar (B) B (C) St (D) sHIee
In which continent does River Nile flow ?

(A) Asia (B) Africa

(C) North America (D) South America

T3 4] TohH HETE § St & 2
(A) TR (B) 3TshieT (C) IW-3mler (D) cferor-amdien

Which of the following seas has highest salinity in the world ?

(A) Mediterranean sea (B) Black sea

(C) Dead sea (D) Red sea

fre o 9 fopm AR (T3 1 et fove o ged 31fees & 2

(A) FHER (B) HENTR  (C) Hd R (D) T TR
Tides in the sea is caused by

(A) effect of Sun (B) effect of Moon

(C) combined effect of Moon and Sun (D) None of these
TGT § SAR-YTT 37 1 BRI & : .

NI SEIREIC] (B) <G 1 I
(C) FSI-ic 1 TIYF TATE (D) 0 O His &l

Water vapour is turned into water droplets by the process of
(A) Evaporation (B) L1quefact1on (C) Convection (D) Condensation
STeT AT 38 HfhAT o R0 ST foigeh H daedieT

(A) Ifived (B) g (C) Ha&A (D) Ho
Tundras are
(A) Cold deserts (B) Hot deserts
(C) _ Deciduous forests (D) Tropical rain forests
(A) 33 TEIA (B) TH TS
(C) YUt o= (D) I Hicaef aui a=
The oldest type of energy is known to man is
EA; Wind power ng Solar power
C) Tidal power D) Geothermal energy

TS ! HeTE YU 1A SHoll ] 6 g -
(A) TeI S (B) HR Sl (C) SIS (D) Y-ard wifed

Which of the following rivers flows into Rann of Kutch ?

%n:)’ Sabarmati (B) Luni (C) Betwa (D) None of these
T Y I € e Fow % W H &) 8 2 ,

(A) weEdt (B) ot (C) =an (D) 8 & g 7
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145. Black soil is also known as
(A) Khadarsoil (B) Bangarsoil (C) Alluvial soil (D) Regur soil
et gaT o1 I8 +f ad & -
(A) @@FE  (B) WR¥g  (C) Vg (D) TR
146. The Manas National Park is situated in the state of

(A) Madhya Pradesh (B) Jharkhand
(C) West Bengal (D) Assam
T8 TS e form Toa & srafea 87
(A) ==Y (B) FNGS (C) Wieaw s (D) 3™
147. ‘Mumbai High’ is associated with
(A) Petroleum (B) Jute (C) Steel (D) None of these

(A) Ugiferm & ’<B) e H (C) 3@ d (D) 370 & HE T

148. A liquid drop tends to assume a spherical shape because of

(A) Centripetal force (B) Centrifugal force
(C) Surface tension (D) Viscous force
Teh e §[g TRl HATehR LT Shid & - ’
(A) A g (B) 3TUehg! &t gRT
(C) B A& g (D) ™ &t gi
149. Permanent magnet can be made from
(A) Cobalt (B) Aluminium (C) Zinc (D) Lead

TS ST ST Tohall & -

(A) ®Eed (B) TgmfEmE (C) Nwa (D) TS ¥

150. Neutron was discovered by

(A) Rutherford (B) J.J. Thomson
(C) James Chadwick (D) None of these
I <h1 @Il <ht off -

(A) EHES  (B) 9. 9mET (C) S asfas (D) 30 § whis &l

151. The element with the highest electrical conductivity is

(A) Aluminium (B) Copper (C) Gold (D) Silver
Iy Tod Aretehar aTell Sie 2 .
(A) wqgwHEE  (B) dien (C) =i (D) =ral
152. As ‘Earthquake’ is related to ‘Seismograph’, in the same way ‘Milk’ is related
to which ?

(A) Hydrometer (B) Hygrometer (C) Lactometer (D) Spherometer
S Y HETUd B TS ¥, 36 TR g He1d §
(A) TESHEX® (B) RO T (C) weMied (D) THUHR
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153.

154.

155.

156.

157.

158.

159.

If road is called water, water is called cloud, cloud is called sky, sky is called
sea, sea 1s called road, then where does a flight of aeroplane take place ?
(A) Cloud (B) Sky (C) Road (D) Sea

TS ! TeT gl AT, A ol FTEA, FEHA bl TSI, T i T3, TG h
TSk, dl BATS SIETST ol IS hal BT ?

(A) St (B) 3TehmI (C) HsH (D) 93

Which country has officially recognized Jerusalem as the capital of Israel ?
(A) United Kingdom (B) Germany

(C) United States (D) Japan

foher Q=1 3 SATRISRTIE TR UX ARHHH b1 SSIISeA shl TSTHTHT ST @ ?

(A) IATEeE fehren (B)

(C) HIF T (D) SaH

Who has been chosen for the 27% edition of Vyas Samman-2017 ?

(A) Mannu Bhandari (B) Surinder Verma

(C) Mamta Kalia (P) Vishwanath Tripathi

TG FH-2017 o 279 G&h{0T o oAU Tohdent == fomam T 8 2
(A) T ¥edl (B) giegwawl (C) wwarifernm (D) fevay frrdt

Which Indian monument has been named 2™ best UNESCO world heritage
site in the world, as per new survey of travel portal Trip advisor ?

A) Ajanta Caves B) Taj Mahal

C) Char Minar D) Red Fort
ST TIEe 14 USSTSSR oh 14 &l o STFHR b |1 A I TR IAeh! hl GHU
A8 foreer eret Tt Efvya feharm T 2 2
(A) 3T <61 T (B) dreHEe
(C) =HHR (D) @ fehatt
Which country’s team has clinched the 2017 Women’s Hockey Asia Cup
Tournament ?

(A) China (B) South Korea (C) India (D) Japan
I W W N AT T 201 7-FHA gTeh! TR %9 At i T 2
(A) == (B) clwsifen (C) wra (D) UM

Which city has recently won the ‘Best City Bus Services Award’ of
Government of India ?

(A) Kochi (B) Surat . (©) Mysuru (D) Lucknow
feohd ST < BTt a1 H W L k1 “a& Hidt 99 gidg 31are’ ag fman? 2
(A) Hi= (B) T (C) Age (D) &S
Who has been awarded ‘Bharat Gaurav Award — 2017’ in Science and
TechnolqlgﬁCajcegory ? o
A; Anil K. Tripathi ng Nikhil Chopra
C) Abhishek Rawat _ D) Dhrub Saxena
3T Senfireh Sroft § fopd v TR 37aTE — 2017° ITH g3 & 2
(A) 3t . Bt (B) TiRgst =u=n
(C) A Taa (D) g8 G
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Baba Kanshi Ram was known as
(A) Himalaya Ratna

(C) Shiwalik Putra

ST SIS T T S1d A

(A) o™ (B) UEE et
Susharma Chandra was the ruler of
(A) Trigarta (B) Suket

Ig I o
(A) Brds (B) Hhd h

The Dhami firing took place in
oTeft wrIfT e gs off 7
(A) 1939 (B) 1942

The ‘Tabo monastery’ is located at

(A) Kalpa (B) Keylong
eE TS’ :
(A) HeurH (B) o H

(B) Pahari Gandhi
(D) None of these

Nalwari fair of Bilaspur (H.P.) takes place in the month of

(A) July (B) October

T o T =T Tt HeTl fhe W A BT 8 7

(A) eg (B) 3rRER
Antonym of the word ‘Aromatic’ is
(A) reeking

(C) assist

Each boy and each girl was presented
(A) away

(C) to

(C) Frarfsga (D) & @ I8 Tal
(C) Sirmaur (D) None of these
(C) fawrs (D) T A HE &
(C) 1945 (D) 1947
(C) Spiti (D) Udaipur
(€) forfas (D) IeEmH
(C) March (D) May
(€) (D) =
(B) unscrupulous
(D) mean
sweets.
(B) with

(D) no preposition is needed

Meaning of the idiom ‘A blind date’ is

(A) acloudy day
(B) unknown future

(C) meeting with someone you do not know

(D) death-day

TG U B

(A) Tfea (B) T
Teramer 9 < o1 5HE g 2

(A) =l (B) =
379 ST YETek 1 1Y 8

(A) &fagfd w1 (B) &1 33MT

23

(C) T&id (D) T&d
(C) dcges (D) wgshife
(C) #fddgar (D) oY 3ISHl
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